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1. The maximum probability of finding an electfg;hs at dlstance uf
a) 0.53 mm b)usanm\U\cjmsanm \\d} 1)53 mm
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2. All the three p — orbitals have same energy. mbe ahsence nf‘magnetlc
field and are called .. nrhltgxlqs,k(_\

a) Generated b DEI{J c) Degeneramd\\1 w\Lucahzed
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3. relative energies of 4s , 4p and 3d orbitals are in the qrde? EN\
a) 3d< 4p <4s b) 4p < 4s, 3d,
0)4s<3d<dp ?’)\} <%3d-<45
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4. Which quantum number tells us about nrlentat’lnn\nfmrhita]s‘\ x
a) Principal quantum number b) 18 mrt;:u:-lnlur‘-l;II number
c) Azimuthal quantum number | \(tﬂ magnetic q{mmnm,number
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5. Correct order of energy in the given sub — shells i is:,

a) 55> 3d>3p>4s

c)55>3d>4s> 3p

Y;\/\

b) 3p > 3aj:>155 > 45
\dLap 530> 45> 5.?\\0\1

Y}\(_,\H)a' x
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6. Which increase in the value of principal quantum r}un‘tber n tht;:\khape of
the s orbitals remain same allhnugh lhel slke£3
) remalrLlh same

a) Decrease

\on
Ld) may or may not {Emaiﬂ th}\'
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7. According to the number of protons, neutrons an
table , which one of the following opllun Is cupéc
ﬁ]‘ + \ Ga*3

a) As” Ga*?,Ca

c) As*3 Ga“'z Ca \C’\J{
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8. Which one of the following pairs has the same els?tmnlclc‘bnﬂgurallun as
possessed by neon (Ne — 10) \
a) Na* , Cl- C [\b) Na® | Mg+ o« &uoﬂ
c) K*,Cl” 1 d) Na* .F YA
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9. There are four orblitals s, p, d and f. which order is, curFﬁ t‘w'l‘tl\l‘respect to
the Increasing energy of the orbitals E?
a) 4s<4p<4d <4f [\*b) s <f< 4p<4d \\\o\\

L

c)dp<ds< 4fi4t‘ \_ L() n\}:;{ 4s\<\4vti'}i;;\
<o MDC MﬂQBO’? .60 6090
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10. The maximum number of electrons in electruns\lnuﬂgulratln}éan be

calculated by using formula: ( -

a) 21+ 1 b) 2n? [\\\c)zn 2 ¢ Mun +1
be?‘
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11. Number of electrons in 53ce** will be S"Y EN\
a) 28 b) 30 c) 29 3& \( _
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12. Number of neutrons In 35za will be: . S"{ E\\"\
a) 30 b) 38 c) 35 w 36, _
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13. Among the following which contains same no, c@elgﬁlarg_“ &?‘t}{\pmtuns
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14. Isotopic symbol of ion Sulphur - 33 is rq?ﬁ'f rhmhsm'
protons and neutrons are present if n are 18?7

a)P=18,n=15 Q[\T \L ]p=lB n= Jguol

c)P= lli . '\j{ﬁ d}\g y ,J\"}n
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15. Whi::h ]s the correct eleclruntc configuration of c ml?\‘{[/&h&?
a) 1s?,2s?,2p%, 3s8 Sd‘ N
b) 152, zsz Zp 352 {’ \ 3d" AF1oN

c) 1s? Qv Al c\\-

d) ls'*‘gg[\ 33
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17. The order of energy level in K1? is? S’Y
a) 4s, 4p b) 4s, 3d 391453\(
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18. Maximum numbers of electron in a sub - shell n by
a) 2(21- 1) b) 2(21 + 1) c) J d] ZJIH
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19. Which of the following element in its atomic stata has el Eclr}ﬂ!s'\fuﬂy
occupying first two spherlcally symme ical g_r):i _
a) Oxygen b) Heli \Lc Beryllium . ..1'{ d)_carbon
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20. What are the values of principal quantum number; and azl:nui.ha) quantum
number for the last electron in chlurlne att:ml?nk "-,

a) 1,6 b1,3 . 931) " d)s, A o
" UQ {’ \*_}'& \j‘v 1\
‘\ Y\\\ '\b

;
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21. Which of the fullnwlng electrons confl gurallungs / are kun‘ué?\
1)29¢, 152 252 3pS , 35! 1i) 29¢ [Arl 4513.::“’
1ii)24¢, [Ar] 4s13d1° C }\1\:){245 [Ar] 4s=3d‘ uoﬂ

o
a) i only S \l b] ll unly 0 Ianqﬂ@mly 0 d) ii and ili only

T 902
col \\[\D( " S 102- (‘M(w(’i

C ontact’

PASS® EDUCATION SYSTEM

22. Quantum number which describes the orientation ufﬁrhl\a]s n\there
dimenslons space is L- -

a) Spin quantum number \ \i:} azlmuthal quaqlu umher

c) Magnetic quanlum number d) princ:lpal quanfum number

. %[\?\: Wi - j\\\\\'\‘u 2
V ]\L'?‘ - ~ 1\\ ( b‘-.)O L
For Mot - 03027 06
i ‘\. 'L p
C ontav

| PASS® EDUCATION SYSTEM |

CamScanner


https://v3.camscanner.com/user/download

23. Which one has greater mass? q" EN\
a) Alpha b) Beta c) Gamma '\( d
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24, Which of the following is the electrons configur \2‘[“5':{ dr?,,N\
a) [Ar]3d54s? b) [Arla 3.%,
) [Ar|3dS4s [\d} [Ar]3 8 41 catio®
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25. The relation between quantum number n and 115\1 T\ N\
ayn=1-1 b) /f=n-2 ()eef= d)\n /-2
\ , oW
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26. Quantum number values for ‘2p’ orbitals are: Q)T Y N\
ain=2171=1 bn=11=2 ()n{ \Lﬂ d]n 21=0
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27. Which palr has 1 electron in its orbital? ~J %’Y \_:;\\A
a) L1 and fe b) Na and Cr d\}&“@ﬁ“ . _ d{_\H and He
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28. Which of the following has lowest e/m ratln? J < \ \ M
a) Li%* b) H*? c) HE)N ) B
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29. According to Bohr, the orbits in which electrons rE\{D arnun
nucleus are:

a) Oval b) Elliptical P\T \@cy drical r\»\ d)'Circular
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30. Atomic number of K: Q \( S’{EN\

a) 19 b) 21 c) 27 N} 1,
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31. Number of protons, electrons and neutrons in Pb"')zqﬁ
a) 82, 80, 125 b) 80.82,125 1) 1 25, 82,8 d} 125 80, 82
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32. Spin could be: Tt‘\[\
a)+=,-= c\-i;l,]& cd\{\mne of thesen
&1 n’u\.\
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33. The e/m values of positive rays depend on .......... Enclumd fn éﬂdjscharge
tube: S

a) Nature of gas b) P ;:ua{f.lgash \a\s 1:) Cnmguslllﬁn of gas

d) All of these "9\ \") &1

\tDL
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34. Cancer treatrment which radiation use: Q) [ \: \A
a) Alpha b) Beta c¢) Gamma \ S\ds Cathode rays

_. rDUC--‘\T\U\\{%@\W‘“oﬂ
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35. M — shell contain: WA
a) s b)s, p,d ¢s,p.df d]£ \(STL
(€ 1\\0\\

\UC[\T 0

<
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36. Who discover neutron: \:‘\‘\"'\
a) Chadwick b) Goldstein dP\‘nc'kj\( x-d) Thumsun

o
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37. If electrons are passed in electric and magnetic ﬂeld\ﬂ;ren currecl\equaliun
is: 1

a) Will go straight b) v(llkb&nd ln&ds lhe pultive plnje \

¢) Will bend to dsmegauve plate a‘i ALt

d) Will bﬂ@eﬂectad pErpendicul {t{ \he aJEs of magnetlc field
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38. Total no. of electrons that can be accommodated 19 %ul{ IN\

a) 6 b) 14 c) 10 \&) 1’5
N \

R §
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39.n ;)Iﬁ\ralue fi:‘) 55d is: .:_)‘7 | T ()d]N S\( ST Y,M

PASS® EDUCATION SYSTEM

40. Maximum number of electrons in p subshell are? ST E
a) 6 b) 10 c) 12
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2) 4 b) 5 969 zb\{
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42. Number of electrons in the outermost shell of c%:r%e’@ﬁ[ﬂ'%ﬁls:

a) 17 b) 1 07 d):8 _
O™ ol

@ BOUY (e Predt
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43. Number of electrons in chloride ion: ST EM

a) 8 b) 7 )9 d}\}las\(
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44. According to Planck’s quantum theory: S'Y EN\
a) A body emits energy in quanta N

b) a bady absorbs energy.i qﬂant \\‘ O'ﬂ

c) emits or absu\r-i)mdiiu:ms discnntinuuuslyc\') A

tn All of' thm \ \
N
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45, Rydberg’s cnnslanl is related to the atnmlc ‘*as ST L
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46. Positive rays are also known as: rY })
a) X -rays b) Gamma rays c) Canal rayS Cathode rays
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47 iflagnellc quantum number 21' s Is: . \{ S \_J
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48, Planck’s constant was named afler scientist; q \ N\
a) Helsenberg b) Planck (ch Jj\lﬂ')" d) Buhr

C f\ Y Lot
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49. During blood formation, d orbitals splits into .. of\ﬁf’?ltms\
a) 3 sets b) 4 sets c) 5 s&ls\ S\d} 2 sets

c KO cparatio”
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50. The probability of finding an electron hetwe&n 5- furhha‘]s,ié zero. This
placeis called .......... Plane:

a) Nodal b) Non — Nd’dal\ Oi\\) Antl — nudal‘\.\ Ot d) Erect
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51. Each electron in an atom must have its own unique ituf quanlum number
is a statement of .......... Q’
a) Aufbau principle r\ b ‘i:lund s ryule ’\\Oﬂ
c) Pauli ext]uslun prinr:lple [\ d) Nnn{f of; {hf;}& A

+ al.
Contact’
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52. The lobes of d - orbltals lle between the axis: \ \J\
a) First two b) In all axis L&Irsﬂﬁr&e% d) None of these
C NV 8 Dl catioh
%gl\ll \J\‘j\) ) ,\\ O ?\ :.)
D R r \ '
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53. Different kind of atoms of same elements are called lsatngeé\having
different .. .. Butsame ........ Pruperty’L
a) Physlcal alnmlc —\ C) Physlr.al chemical 10 14
c) Chemical , phy}sl{tl !\ d) Chemlcal~ gtarrﬁc
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54. Potassium has electronic configuration (2, 8, 8, 1) and betuma !nn by

attaining configuratlon: .
a) 2,8,8,2 b)z 8, a \\Q“‘"s % d] z,\a{a*a’u

L prepte
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55. Spectrum is the visual display or . . Of cm}'npﬂnanvnfwmlc light
where It Is passed through prism
a) Rarefaction b) rad[allun\( T‘) “Collection \d] Dispersion

_ A \Wa
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56. Which has greater energy according to Auf — bau pnnciple (N d):
a) 5d b) 4f c) 7s d) 6p « »
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